



05/18/2023 09:00 AM | Travel to Vegas -

Truss Covers

05/19/2023 09:00 AM | Install Truss Covers -

Day One

05/20/2023 09:00 AM | Install Truss Covers -

Day Two

05/21/2023 09:00 AM | Return to LA - Truss

Covers

05/24/2023 09:00 AM | Installers: Travel to

Las Vegas - Main Event

05/25/2023 12:00 PM | Install Day 1

05/26/2023 07:00 AM | Install Day 2

05/27/2023 07:00 AM | Install Day 3

05/27/2023 06:00 PM | Event

05/28/2023 08:00 AM | Strike Day 1

05/29/2023 08:00 AM | Strike Day 2

05/30/2023 09:00 AM | Travel to LA

P0:

Shipping Address:

Red Rock Resort

Las Vegas

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
ArrivalsHallwa	ys				
	Perimeter Drape - White Velvet	1	\$25,000.00	Т	\$25,000.00
	Perimeter Valance - White Dupioni	1	\$5,675.00	Т	\$5,675.00
	'JF' Acrylic Structure - Brushed Metallic each letter approx 72"H x 36"W	1	\$28,000.00	Т	\$28,000.00
	Las Vegas Dining Table 6'x40" - Painted Silver for the escort card table	2	\$450.00	Т	\$900.00
		To	otal ArrivalsHallw	ays	\$59,575.00
Cocktails					
	NEW: Perimeter Drape - Fuchsia Chiffon For the entire perimeter of the Cocktails ballroom 22'H	1	\$22,350.00	Т	\$22,350.00
	Truss Covers - Ivory Scuba made with velcro	1	\$8,750.00	Т	\$8,750.00
	Pink Tinted Plastic 'Valance' Perimeter for Pendant Clusters 14' x 14' x 36"H	3	\$5,000.00	Т	\$15,000.00
	to create a box like shape in ceiling; similar to inspirational image				
	Pendant Ceiling Area 14' x 14' - Fuchsia	3	\$1,250.00	Т	\$3,750.00
	Pendant Lamp - Pearl - Glass & Brass 05	20	\$275.00	Т	\$5,500.00

Description		Qtty	Price		Total
	Pendant Lamp - Pearl - Glass & Brass 04	20	\$250.00	Т	\$5,000.00
	Pendant Lamp - Pearl - Glass & Brass 03	20	\$225.00	Т	\$4,500.00
*	Pendant Lamp - Pearl - Glass & Brass 02	20	\$200.00	T	\$4,000.00
•	Pendant Lamp - Pearl - Glass & Brass 01	20	\$175.00	T	\$3,500.00
	Beirut Curvy Sofa - Off White Velvet	4	\$550.00	T	\$2,200.00
D	Beirut Club Chair - Off White Velvet	8	\$250.00	T	\$2,000.00
	NEW Acrylic Coffee Table - Layered Shades of Pink 54"L x 30"D x 16"H	4	\$1,850.00	Т	\$7,400.00
	NEW Acrylic Round Accent Table - Clear 20"D x 16"H	4	\$650.00	Т	\$2,600.00
8	Beirut Ottomans - Ivory Velvet	8	\$95.00	Т	\$760.00
	Accent Pillows	24	\$35.00	Т	\$840.00
7	Las Vegas Bistro Table 36"D - Painted White	4	\$275.00	T	\$1,100.00
	Frankfurt Dining Chair - Channeled Round Off White	20	\$25.00	T	\$500.00
	NEW Bar Front Acrylic Boxes 96"L x 40"H x 18"D Mirror Backing with an open base; all other framing is transparent pink acrylic	4	\$9,750.00	T	\$39,000.00
	NEW Bar Table/Shelf Boxes 84" x 36"H x 18"D Painted fuchsia wood for the bartenders to have a working table/ shelving for all barware	4	\$4,200.00	T	\$16,800.00
	NEW Bar Front Acrylic Boxes 72"L x 40"H x 18"D Mirror Backing with an open base; all other framing is transparent pink acrylic	1	\$7,750.00	T	\$7,750.00

Description		Qtty	Price		Total
	NEW Bar Table/Shelf Boxes 60" x 36"H x 18"D Painted fuchsia wood for the bartenders to have a working table/ shelving for all barware	1	\$3,500.00	T	\$3,500.00
	NEW Metal Barbacks 48"W	4	\$1,300.00	Т	\$5,200.00
	painted fuchsia with clear acrylic shelves				
	NEW Columns - Painted Pink to place in the corners of the barbacks 12" x 12" x 8'H	4	\$950.00	T	\$3,800.00
	Light Up DJ Booth - Pink Frame and Pink Plexi	1	\$650.00	Т	\$650.00
	Las Vegas Dining Table 8'x40" - Painted White for Food Station; used together to make 16'L table	2	\$450.00	Т	\$900.00
I	Las Vegas Stand Up Table 36"D x 40"H - Painted White for food stations and stand ups	11	\$300.00	Т	\$3,300.00
	TBD Photo Op Moment purchase of materials (some was able to be returned) and preparation of the 'bubble' panels	1	\$5,500.00	Т	\$5,500.00
			Total Cocktails		\$176,150.00
Tunnel I					
	Perimeter Drape - Blush Velvet for the tunnel entry into reception for a 22'W x 10'D x 10'H but with extra swags	1	\$6,500.00	Т	\$6,500.00
			Total Tunn	el I	\$6,500.00
Reception					
	Stage Drape - Design & Traveler TBD 60' x 22'H chiffon w. backing drape Traveler to open to one side via pulley system with 24"H valance to cover mechanisms	1	\$4,500.00	Т	\$4,500.00
	Perimeter Drape - White Chiffon	1	\$22,500.00	Т	\$22,500.00
	NEW Ceiling Drape - White Chiffon w. Backing (4) Panels 5'W x 80'L (3) Panels 5'W x 50'L	1	\$18,000.00	Т	\$18,000.00
	Truss Covers - White Scuba made with velcro	1	\$8,750.00	T	\$8,750.00
	Stage Front - Straight Finish White fabric (speakers underneath stage) 44'W x 36"H	1	\$4,000.00	Т	\$4,000.00
	Dance Floor 32' x 20' - White High Gloss	1	\$6,500.00	Т	\$6,500.00
	Las Vegas Dining Table BASE for Round Top (paintable) painted high gloss white	6	\$250.00	Т	\$1,500.00

Description		Qtty	Price		Total
	Las Vegas Dining Table TOP 72"D (paintable) painted high gloss white	6	\$350.00	Т	\$2,100.00
	NEW Las Vegas Dining Table BASE for Round Top (paintable) painted high gloss white	10	\$450.00	Т	\$4,500.00
	NEW Las Vegas Dining Table TOP 72"D (paintable) painted high gloss white	10	\$750.00	Т	\$7,500.00
	NEW Las Vegas Dining Table BASE for 84"D (paintable) painted high gloss white	1	\$500.00	Т	\$500.00
	NEW Las Vegas Dining Table TOP 84"D (paintable) painted high gloss white	1	\$800.00	Т	\$800.00
	Cake Table : Round Pedestal 40" X 32"h painted white high gloss	1	\$275.00	Т	\$275.00
	NEW Bar Fronts 6'L - Layered Tier painted high gloss white	2	\$3,640.00	Т	\$7,280.00
	NEW Bar Fronts 8'L - Layered Tier painted high gloss white	4	\$3,995.00	Т	\$15,980.00
	Barback - Curved Alcoves w. Shelves White Gloss White frame with TBD pattern decal insert	1	\$3,250.00	Т	\$3,250.00
	NEW Barback - Curved Alcoves w. Shelves White Gloss White frame with TBD pattern decal insert	1	\$15,650.00	Т	\$15,650.00
	Console Tables - Buenos Aires Clear Acrylic 6'W x 18"L x 36" H	4	\$250.00	Т	\$1,000.00
			Total Recept	ion	\$124,585.00
Tunnel II					
	Perimeter Drape - Black Stretch Velvet for the tunnel entry into reception for a 22'W x 10'D x 10'H	1	\$4,500.00	Т	\$4,500.00
			Total Tunne	el II	\$4,500.00
After Party					
	NEW: Perimeter Drape: Black Stretch Velvet	1	\$28,000.00	Т	\$28,000.00
	NEW Inflatable Orbs - Silver Metallic for (32) Pieces ranging in size between 8'D to 3'D	1	\$50,000.00	Т	\$50,000.00
	Truss Covers - Black Scuba 420 linear feet x 20.5" x 20.5" truss, 422 linear feet x 12" x 12" truss, +(100) extra of 12" x 12"	1	\$8,750.00	Т	\$8,750.00
	Straight Barback 8'L - Black Frame	4	\$275.00	Т	\$1,100.00

Description		Qtty	Price		Total
	New York Bar 8'L Black Frame Multi-Dimensional Fronts ALL BLACK	4	\$850.00	Т	\$3,400.00
	Stage Front - Straight Finish black fabric 40'W x 36"H	1	\$3,500.00	T	\$3,500.00
	Dance Floor 32' x 20' black High Gloss with bronze, gold, and silver decals	1	\$6,500.00	Т	\$6,500.00
	Las Vegas Round Booth - Black Velvet (2pcs)	4	\$650.00	Т	\$2,600.00
	NEW 48"D Round Coffee Table - Painted Black	4	\$2,500.00	Т	\$10,000.00
	Beirut Sofa - Curvy Black Boucle	4	\$550.00	Т	\$2,200.00
	NEW Hamburg Square Coffee Table - Black Wood 48" x 48" elevated	2	\$1,250.00	Т	\$2,500.00
	Rome Club Chair - Round Channeled Black	4	\$275.00	Т	\$1,100.00
	Ottomans - Beirut - Black Boucle	24	\$95.00	T	\$2,280.00
	Monaco Top Hat - Black Velvet	1	\$650.00	T	\$650.00
T	Hamburg Square Accent Table - Black Wood	5	\$150.00	T	\$750.00
	Hamburg Square Accent Table - Black Wood	1	\$150.00	Т	\$150.00
	Communal Tables - Amsterdam 10'L semi gloss black	2	\$350.00	Т	\$700.00
	Frankfurt Barstools - Channeled Boucle Black	22	\$35.00	Т	\$770.00
			Total After Pa	arty	\$124,950.00
Additions - Gree	n Rooms				
	Moscow Sofa - Ivory Velvet	4	\$500.00	Т	\$2,000.00
	Moscow Club Chair - Ivory Velvet	4	\$250.00	Т	\$1,000.00

Description		Qtty	Price		Total
	Paris Coffee Table - Gold w. Mirror	4	\$225.00	Т	\$900.00
		Total Add	litions - Green Roo	ms	\$3,900.00
Additions 5.22					
	Oversize Props - Led Light Tunnel - White LED 7'W x 8'D x 8'3"H	1	\$5,500.00	T	\$5,500.00
	NEW Las Vegas Dining Table TOP 72"D (paintable)	2	\$750.00	Т	\$1,500.00
	NEW Las Vegas Dining Table BASE for Round Top (paintable)	2	\$450.00	Т	\$900.00
	Shield Covers - Pink Scuba 9.5" x 20"	60	\$7.50	Т	\$450.00
	Moscow Sofa - Ivory Velvet	1	\$500.00	Т	\$500.00
	Moscow Club Chair - Ivory Velvet	2	\$250.00	Т	\$500.00
	Paris Coffee Table - Gold w. Mirror	1	\$225.00	Т	\$225.00
			Total Additions 5	.22	\$9,575.00
Additions 5.24					
	Las Vegas Dining Table 66"D w. Base - White High Gloss	2	\$450.00	Т	\$900.00
	Barstools - Monaco Black	24	\$25.00	Т	\$600.00
	NEW Barback 48"W - Fuchsia	1	\$1,300.00	Т	\$1,300.00
			Total Additions 5	.24	\$2,800.00
Additions 5.25					
8	Club & Lounge Chairs - Rome - Blush Mauve Boucle	2	\$275.00	Т	\$550.00
May a comme	Sofas - Tokyo	1	\$650.00	Т	\$650.00
			Total Additions 5	.25	\$1,200.00
Services					

Description		Qtty	Price		Total
	Pre-Rig: Installers Drive to Vegas	6	\$400.00		\$2,400.00
	Pre-Rig: Installers Install (2) Days	6	\$1,000.00		\$6,000.00
	Pre-Rig: Installers Drive to LA	6	\$400.00		\$2,400.00
	Pre-Rig: Perdiem for (4) Days	6	\$276.00		\$1,656.00
	Pre-Rig: Trucking 16'L	1	\$1,850.00	Т	\$1,850.00
	Pre-Rig: Rental Car	1	\$1,000.00	Т	\$1,000.00
	Installers: Drive to Vegas	24	\$450.00		\$10,800.00
	Installers: Install on 25th, Thursday	24	\$650.00		\$15,600.00
	Installers; Install on 26th, Friday	24	\$750.00		\$18,000.00
	Installers: Install on 27th, Saturday	24	\$650.00		\$15,600.00
	Installers: Stand By	2	\$350.00		\$700.00
	Installers: Strike on 28th, Sunday	24	\$650.00		\$15,600.00
	Installers: Strike on 29th, Monday	24	\$500.00		\$12,000.00
	Installers: Drive to LA on 30th, Tuesday	24	\$450.00		\$10,800.00
	Accommodations: Crew Perdiem	24	\$483.00		\$11,592.00
	Accommodations: Manager Perdiem	3	\$414.00		\$1,242.00
	Trucking: Semi 53'L Round Trip; price approx	3	\$7,000.00		\$21,000.00
	Trucking: 24'L Box Truck Round Trip; price approx	1	\$2,800.00		\$2,800.00
	Trucking: Rental Car Weekly Rental; price approx	5	\$1,500.00		\$7,500.00
	Manager: Onsite for (6) Days	1	\$5,100.00		\$5,100.00
	JR Manager: Onsite for (6) Days	1	\$3,000.00		\$3,000.00
	Manager: Round Trip Flight price approx	3	\$850.00		\$2,550.00
	Manager: Rental Car price approx	1	\$1,500.00	Т	\$1,500.00
	Prop Builds: Design and Labor	1	\$10,000.00		\$10,000.00
	Prop Builds: Trucking	1	\$3,000.00	Т	\$3,000.00
	Prop Builds: Cancellation of Product Cost of Materials only	1	\$3,500.00		\$3,500.00
	Pre-Production: Rush Fees This is a guesstimate until after all items have been confirmed and produced for event. Will Finalize after event has concluded	1	\$13,750.00		\$13,750.00
	Pre-Produciton: Design, Layouts, and Decks	1	\$8,500.00		\$8,500.00
	Subrental: Trucking	1	\$1,950.00		\$1,950.00
	Dance Floor: Labor	1	\$3,600.00		\$3,600.00
					_

Description	Qtty	Price	Total
Dance Floor: Trucking	1	\$1,550.00	\$1,550.00
Certifications: Flame Proofing Fabric	1	\$5,000.00	\$5,000.00
Certifications: Flame Proofing Materials	1	\$3,500.00	\$3,500.00
Certifications: Flame Proof inflatable Orbs	1	\$2,500.00	\$2,500.00
Supplies: Misc Packing materials, paint etc	1	\$9,500.00	\$9,500.00
Please make checks payable to Revelry, Inc.		Total Products:	\$513,735.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full		oor/Services/Misc:	\$237,040.00
Please ready the contract and sign it	Та	xes (tax excempt):	\$0.00
Notes		Discounts:	(\$3,325.00)
notes		Total:	\$747,450.00
		Payments:	(\$747,450.00)
		Balance:	\$0.00